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1 (b)
Let original average salary of those 40 teachers be Rs. X.
When 10 more teachers were appointed, then average salary reduced by Rs. 750.

According to the question,

40x + 90000 = (40 + 10) (x - 750)

Or 40x + 90000 = 50 (x - 750)

Or 40x + 90000 = 50x — 37500

Or 10x = 127,500

X =12,750

Therefore, total salary of 40 teachers = 40x = 40 x 12750 = Rs. 5,10,000

Hence, option (b) is the correct answer.

2 (a)

Given equation, x?+ 10x +21 =0
Herea=1,b=10andc =21

-~ Product of roots = c/a=21/1=21

Current week price = Rs. 112
So, next week price = 112 + 21 = Rs. 133

Hence, option (a) is the correct answer.

3(a)

Let x be the cost price of the plant.
Profit at 12% = x x 12/100

Profit at 8% = x x 8/100

According to the question,
(12x/100) — (8x/100) = 32
Or 4x/100 = 32

Or x =800
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